K0638_A
LR0l= Eeold £F AEY

= 8Y/HMIZ olo|x]

==
=

THE!:
22 0| 3.2163.

© HEINRICH KIPP WERK GmbH & Co. KG

AZoxIQ HZ EEQ XRES EAFTHIBEE
&= LIAF DIN 912 /1SO 47621t &1 A2 75

www.kipp.com - info@kipp.com 1/3



=IEiIOI 55 AEI

=5 4Y/HIE o[0ix|

® ©

ﬁf/

kn
g

® D1

D2

| D3

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 2/3



K0638_A

LR0=E Eejojd 5 AEY

== g9

FEHS Etel D1 D2 D3 A B H H1 L T
K0638.306 A M6 4,5 8 20 10 13 - 30 3,2
K0638.3061 A M6x0,75 4,5 8 20 10 13 - 30 3,2
K0638.308 A M8 4,5 8 20 10 13 - 30 3,2
K0638.3081 A M8x1 4,5 8 20 10 13 - 30 3,2
K0638.310 A M10 55 10 24 12 18 - 37 3,9
K0638.3101 A M10x1 5,5 10 24 12 18 - 37 3,9
K0638.312 A M12 55 10 24 12 18 - 37 3,9
K0638.3121 A M12x1,5 55 10 24 12 18 - 37 3,9
K0638.316 A M16 5,5 10 32 15 25 - 46 3,9
K0638.3161 A M16x1,5 55 10 32 15 25 - 46 3,9
K0638.320 A M20 55 10 32 15 25 - 46 3,9
K0638.3201 A M20x1,5 5,5 10 32 15 25 - 46 3,9

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



